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Sometimes the grandson of a robber has no Chazokoh; for instance
when he comes with the claim of his grandfather

OVERVIEW

X171 said (that even though 717> 1 taught that the grandson of a 1713 has a npm,!
nevertheless) sometimes a grandson of a 1713 has no 71p1; that is in a case where the
grandson claims that he inherited this item from his grandfather the 71913.> Our
MooIn discusses this issue.

nvoIN asks:
- 319959 190 KN DPIN 1Y PN INNBNT PNY 13395 NN

The >'"9 is astounded; why does the grandson not have a 1P, since we argue

on behalf of an heir -
- 47359 ANAT TN KIN PYO 711 19T 12939577 0% AN 1IN IN NIAYT 91391 1Y 1)

So it should be said by 7"2 on behalf of the grandson (the w7 of the son) that
perhaps if his father (meaning the son of the j713) was alive, the 1713 12 would

have claimed, ‘I bought it from you later’ (after my father the 191 had it), therefore the
P of the wv is valid.

mooin (because of the abovementioned difficulty) presents a different Xo77a:
— 5PN Y W 1O 1AV DINYD DINT PN 139390 NI

And it appears to the "' that the text reads, ‘sometimes the son of a 3713 has a
TP (not 7RI Y R 1773 12 12w DonYD) -

= 191N AN NINT SMIANT NANT XNIYLA SNNPT D
For instance where the 1713 2 comes with the claim of his grandfather,

meaning the father of the o7 -
- 190N PAN 1T AP Y PRY 3 P2 NIPAY 22 Y ONT 1Y $RUN NP

! This is in a case where the grandson claims he inherited it from his father, the son of the 1213 [see (however)
footnote # 12].

2 In this case we say that since the 1712 had no apin, therefore the 7p1n of the grandson is meaningless.

3 See previously X,30 and in >"wA there 1w 7"7. In a case where the 7w wn (who has proof the he was once the
owner of the property) claims it is his field, and the prmn replies that he inherited it from his father. The 7"°2 argues
on behalf of the w1 that perhaps the father of the w1 bought it from the “y7vn, and therefore the 7P of the W is
valid (even though the w1 did not claim that his w>1» bought it from v yn).

4 If the 1913 12 would claim that he bought it from the 7¥7wn, he would be believed, as the X723 just stated.

5> Even though 7am” "1 taught the (generally) a 7P 12 X 197 13, nevertheless o°nys that a APt 2 w2 1213 12

6 The 1913 12 claims that this field belonged to his grandfather (the 17137 *aR) and he eventually inherited it from his
father (the 7213) who in turn inherited it from his father (the 77137 °2R).
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And X271 is teaching us that even though this property was in the possession of

someone who does not have a 7P, meaning his father the 3913 (from whom he

actually inherited it) -
= 71AN AN YWY NNV IRV 119D NPIN Y Y DIPN YN

Nevertheless the 777 12 has a 7111 since he said it belonged to his grandfather —

N0 reconsiders the first X0
= Y9 29N APIN IV PPN 1T 12 127 DY NIYNI XD AW»H U

And we can substantiate the first X029, which is 7P 2 PR 1913 32 J27 29%2YD,

and this is the explanation; the 1773 12 12 has no 7P in a case where -
= MANT RANT RNYLVA NHNT 1920

For instance that the grandson comes with a claim of his grandfather the 7513 -
- 895N 1911 1Y NN2IAY 19TAN 12 19907 1PAN 1Y 9INRY AIINY

And the grandson claims that his father, meaning the son of the >3, said to

him (the grandson of the 7713) that his father the 913 left him this property -
— N2t NIN 119D 9N 1IN 799 *NNAT 47177 NN ONT

For if it is true that the 1717 12 went back and bought it from the w2vn, he

would have said to his son (the grandson), ‘I bought it from the 7vw»', instead of
merely saying, ‘my father left it from me’, this proves that the 72137 72 never bought it from the
yavn —

mooin offers an alternate reason why here we are not w9 131 that his father bought it:
— N NNYOY NIT NNDNIT NN INN 9D WD 1930 XYT PHY 13939Y NI 10993 IN

Additionally it appears to the >''1 that we are not @9 ¥ in such a case, for

it is something uncommon that the 1713 12 who inherited the field from his father should
buy it back from the v wn —

mooIn proves that we do not claim a X°>w X577 Xn?"» (even) for omn:
= (80 ROND M1 o 2,¥ 97 1mpY) %20 NN 92199 91021 99NRT Y390

7 The claim is a valid claim since his grandfather was not a 7713; anything in his possession is rightfully his. We
believe the grandson that his grandfather had it, because the grandson has a 1, he could have claimed, ‘I bought it
from you’.

8 moon will now answer the difficulty he had on this X07°3, namely why do we not argue on behalf of the grandson
that his father (the 12137 72) bought it back from the wwn, since w1 Pavw. The answer is that since the grandson
claims that his father told him that he inherited it from his father (the 7213), he negated any possibility that the son of
the 1713 repurchased it from the 2y yn.

% The n"271 M7 amends this to read M 72372 7231 1777 (instead of M7 7% NIt 27A7).

10" According to the 1"X, there is no need to say that the grandson stated that his father inherited it from his father the
1713 (which negates the claim of 7121 777), but even if no mention was made that his father inherited it from his
grandfather, nevertheless 7"2 will not be ¥ that perhaps his father bought it from the “yvn.
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Just as the X3 states!! in the end of n°277 N 99457 P75 -
= N> NNV NYT RNDINT DIVN YDINI 50D 12290 ND1

That we do not claim 21821 on behalf of the 221" since 01X iS an uncommon
occurrence —

Mmoo responds to an anticipated difficulty:
- 1299099 ¥ 119N 12 191 13 [12] DIYY MNPT N

And this which 737 ' ruled previously that the grandson of a 7213 and the son
of an 2R (both) have a pIn —

mooIn responds:
= 135791 139392 9INRT DIVN RP1T N

That ruling is only because he claimed that the "¥7v» admitted in our presence

that he sold it (to my grandfather [the 7713]) -
= PN I PN DN IND RN YNRWNT NN YW DWN NIAITINY

And on the contrary; from there we can prove what msoin claimed, for it

seems that were it not for this (that he claimed 2 7717 12°192) he has no 7P -
$DYTOD RON MITIN MDIINY MIIIN NN NIPIYNT 1

Since initially it came into his possession through either n129T31 NIPYIR ,MININ,

SUMMARY

' The case there is where the father of the om0 received money (7ww32) from an investor, for the purpose of
investing, where the profits would be divided between the investor and the father. The father then died and the
investor (M9%n) is coming to collect from the omn> with this 0> "vw. The o°»on ruled that in this type of
investment/loan, we look at it is if half is a loan (for which the Mm% is responsible to pay it back, no matter what
happens) and half is considered to be a 175 for which he can be exempt from returning it if there was an 0oIX.
Therefore if the father would have lost all the money, on account of an o1, he would be required to pay back the
half, which is a loan, but could swear that it was lost 01383, and be "5 from paying the second half. In this case
however the father died and the investor/m79% wants to collect from the 20> with this ©°3 qvw. The rule, according
to one 7", is that he collects everything (from their father’s estate). He certainly collects the m>n half, for we cannot
claim *ny"o, since he has a 7ww, but he even collect the half of the N7pd, and we do not claim (on behalf of the
W) perhaps it was an 01X, so they should be Mo, since 0w &> 01X. [This does not say there explicitly in the
X773, but that it how n1vOIN explains it. ]

12 m90In understands the case of 7P 12 W 1213 12 12 (which j1am1 ' stated together with 7P 12 w° 72X 12), to mean
that the grandson claims that his grandfather the 7213 owned it (and he inherited from him). [This is not like the
X7 1"72 0"2w" that the grandson of the 1913 claims that he inherited it from his father (for that is Xv°w»).] The question
is how the grandson has a np1n, since his grandfather the 1213 has no 1pm. We could therefore (mistakenly) conclude
that we are w712 10 (to the grandson) that his father (the 1213 12) bought it from the 2y7wyn. This contradicts this
which Mmoo just said that this claim is a X°5w 877 ®n%n and 7"2 will not claim it for the w7,

13 Normally if the grandson would claim he inherited it from his grandfather (the 7213), he would not be believed, but
the X3 previously explained that the ruling of 7Pt ¥ > 1713 %W 112 13, is when he claims 7717 1°193, that the v wn
admitted to the grandfather that the 2y7¥» sold it to him, therefore he is believed with a » of niar 71, However if he
merely claims, ‘I inherited from my grandfather’ he is not believed, since he was a 1713. See ‘Thinking it over’ # 1.

3
TosfosInE



oonyo 7"7 'o1n X, 2"1.7"02

We can be 0773 that 117 1% w° 1913 YW 12, or we can be 0713 that 1% PR 1213 YW 112 72
7P, and we are not WAL W, either because he negated that option in his claim,
or the claim of {7327 177 is a ROW RH7T XY which we are not 2% 370 (unless he
claims 7717 11°192).

THINKING IT OVER

1. It appears from m01n that by a 1773 2w 112 12, he has a 7P in a case of 7717 117192
even if he claims that he inherited it from his grandfather (the 7213).'* The question
here is why the 1773 12 is not believed (even in a case of 7717 11°392), because we say
the 7XTI7 is meaningless, and the 171 5w 112 12 is believed; here too we should say
that the %77 is meaningless. Why is there this difference between 1713 12 (where
TP 12 1PX) and 1913 5w 112 32 (where 7R 2 w) 2!

2. MO0 writes mPIR YP WO 12 121 1713 12 32, and similarly in the end m»oIN writes
T ROR NMI2TA MOMIRY MIAIR NN X wnT 11°0. Is Mvoin question (and subsequent
answer) based only on 777 12 12 or also on DR JAR?!°

14 See footnote # 13.
15 See o"n.
16 See wn nbnn YW 21D,
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